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VY_42_INOVACE_28_Matematika_Přirozená čísla_Závorky 

 

Vypočítej příklady zpaměti. Ty příklady, kde nejsou závorky třeba, opiš pod tabulku v  upraveném 

tvaru. 

 

 
(28 +65) : 3= 

 
(40 + 520 ) : 7= 

 
6 . 12 + 5 . 20= 

 
( 72 : 6) . 100= 

 
2 . (65 – 38 )= 

 
450 : 9 + 990= 

 
( 300 – 210 ) . 8= 

 
2 . 8 . 5 = 

 
420 –(650 – 300)= 

 
420 + 4 . 90= 

 
730 – 210- 180= 

 
( 600 : 3 ) : 5= 
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(28 +65) : 3=31 

 
(40 + 520 ) : 7=80 

 
6 . 12 + 5 . 20=172 

 
( 72 : 6) . 100=1 200 

 
2 . (65 – 38 )=34 

 
450 : 9 + 990=1 040 

 
( 300 – 210 ) . 8=560 

 
2 . 8 . 5 =80 

 
420 –(650 – 300)=70 

 
420 + 4 . 90=780 

 
730 – 210- 180=340 

 
( 600 : 3 ) : 5=40 

 

 

 

 

 


